PHYS 5210
Graduate Classical Mechanics
Fall 2022

Lecture 7

Constraints and Lagrange multipliers

September 7



Discuss dynamics on configuration space S!.
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Discuss dynamics on configuration space S2.

¢F 15 dhe (L-dimn] Crarfuce ) gphere 2=T
' 4 ek
5{‘“”;;‘;\( gy What L mekes fente!
resArt - N .. . }
'}(’/rSTVTaCquB L= %’10{& PG e g o P )+

Y= gt Sing

. . -y
L~ {%7’-(' KMQQ"ﬁ
g‘lan;k‘P\)

= reosd
\N(m‘dn Ppin%i W\',cful,’g
(8,6) ¢ (46/4’*%’)

e’
\

. - |
“ 5 LLU"S%/ SmeC,OSLP;

2%

¢ i

: oV
< X

g="



Discuss the method of Lagrange multipliers. !
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@ Use Lagrange multipliers to determine the action for a particle moving
on 8% ki =
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@ How can we remove the Lagrange multiplier from the equations of
motion?
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